= o
A & 0l & AF 2 E A A
20198 & =0l&t LBl H s&
FN: s&
M sEEs NAANY
2 sESX NFAE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= At 39,333,337 31,794,775 7,538,562
= 16,976,939
J| 115,600
= 3,465,161
s 18,775,637
SsEEES XN ALY 5,589,875 2,070,558 3,519,317
= 246,274
< 1,441,190
[ia 3,902,411
sE5X XNJ AL 4,232,404 927,211 3,305, 193
= 38,811
= 1,321,826
s 2,871,767
sEMY 29 76,430 106,430 230,000
201 2et2d]| 9,130 9,130 0
01 At 2teltl 9,130 9,130 0
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s 171,912
02 ¥et=st it = 220,400 220,400 0
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< 48,488
s 171,912
=)0 X (Z8l) 37,408 28,000 9,408
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301 LBt A= 2,740,473 0 2,740,473
== 1,096, 189
= 1,644,284
12 JIEtE2 A= 2,740,473 0 2,740,473
O B ZHorEizHH XI& 2,740,473,000& 2,740,473
= 1,096,189
= 1,644,284
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308 XAHXIGH SO0l & 200,000 0 200,000
10 2| 2SHUSHEAXERAEASH] 200,000 0 200,000
O =sgoEZ2H ol BA 200,000,000 200,000
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o= 7,500
= 17,500
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307 glz2+0ol & 500,000 500,000 0
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s 188,000
307 glz2tol & 268,571 359,283 A 90,712
< 80,571
s 188,000
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O HAs0 - HE=ereE3 &It 6,000,000 6,000
O AsEHMAQS 2HLH 700,000& 700
02 Z2=2=24%4| 5,000 5,000 0
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01 2L Y| 4,000 4,000 0]
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HASSBHENZRKA(2H) 8,424,000 8,676,000 A 252,000
= 8,424,000
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60,2403 112 x50 39,759
S=AXEH KR (=24]) 3,250,000 3,034,211 215,789
= 3,250,000
301 et A= 3,250,000 3,034,211 215,789
= 3,250,000
12 JIEtE2 A= 3,250,000 3,034,211 215,789
O g¥=AHZE2(6,423ha) 3,250,000,000& 3,250,000
= 3,250,000
SsHMSH(EAEH])(I12) 26,200 22,000 4,200
Jl 26,200
201 et | 22,200 20,000 2,200
J| 22,200
01 AFR 2t 2| bl 22,200 20,000 2,200
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O &€= dEH L S MAMRARE 2
2l 22,200,000& 22,200
J| 22,200
202 O4dl 4,000 2,000 2,000
J| 4,000
01 = LH 4 bl 4,000 2,000 2,000
O g&sgazsad =& ol 4,000,000& 4,000
J| 4,000
OlsAl e AU X AE(=HI) 16,960 4,000 12,960
< 5,100
e 11,860
402 RIZERH201 A 16,960 4,000 12,960
< 5,100
i 11,860
02 U2 THEALEZ(0IETHR) 16,960 4,000 12,960
O olsa sk &gl X3
530, 000 *40CH *80% 16,960
< 5,100
[ia 11,860
sIIH SstEX 2 NAAS (=) 5,000 10,000 A5,000
= 2,000
< 1,000
e 2,000
402 RIZER20l A 5,000 10,000 25,000
= 2,000
= 1,000
fia 2,000
02 LA TEALEZ(0IETHR) 5,000 10,000 A5,000
O =gJIH sataEx 2RXE
50CH 100,000 5,000
= 2,000
< 1,000
[ia 2,000
S YOI MAHI & 2 2,240,000 2,240,000 0
307 glz2tol & 1,940,000 1,940,000 0
02 It MAMHEE 1,940,000 1,940,000 0
O |J1&8dlg N& 1,100,000, 000& 1,100,000
OHSRE ZUHLE 2= 840,000,000& 840,000
402 RI2FX=01 M 300,000 300,000 0
01 2I2E 2 A B (KM ) 300,000 300,000 0
O =42 Moty 22 AJMS (AXD01, XA
X, &I S) 600,000,000& *50% 300,000
HEHs SI2=JAR ES A (EHI) 23,640 0 23,640
< 3,546
[ia 20,094




2N
X ZH -
L= B

el

S
WeFsY 54
DEIM MAIIBEY

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 23,640 0 23,640
< 3,546
s 20,094
01 At 22l 23,640 0 23,640
O e=2sgele 23 394 «5,000& x128 23,640
< 3,546
s 20,094
gsHASH dadsE 0| 13,253 12,048 1,205
101 @124 dl 13,253 12,048 1,205
4 D12t ZE2XREES 13,253 12,048 1,205
O esANEH MaYH 20
60,2403 x20 L «11H 13,253
= EHE S MUK (BMMAZHT)(20]) 2,196,400 1,857,737 338,663
= 1,757,120
= 87,856
fia 351,424
301 LEtE A= 2,196,400 1,857,737 338,663
= 1,757,120
< 87,856
s 351,424
12 JIEtE4 3 2,196,400 1,857,737 338,663
O = EI=2 MuhX2(HMAZTEHH)
646ha*3,400,000& 2,196,400
= 1,757,120
< 87,856
e 351,424
SEIGHS L (ALEEH) (=) 180,000 360,000 A 180,000
= 100,000
i 80,000
402 BIZEXHE 0| A 180,000 360,000 A 180,000
= 100,000
s 80,000
02 QI EAIL B (01T S) 180,000 360,000 A 180,000
O SEZ2H L (AMEEHI)
200,000,000& *90% 180,000
= 100,000
e 80,000
ns R R Rl SHN Rl 1,000,000 0 1,000,000
301 gt L= 1,000,000 0 1,000,000
12 JIEBHE4 3 1,000,000 0 1,000,000
O B MHisot 3SAFXNSXH
1,000,000, 000& 1,000,000
=240 88D £X N& 100,000 0 100,000
402 RI2EX 20| ™ 100,000 0 100,000
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2N set
S

Y EdsY R4
Celr DEBIM MAIIBEY (SHol: @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 100,000 0 100,000
O =82dX7] &I &X X
100CH *2,000,000& *50% 100,000
ESZZH SEAML(MSL2S X ) (=) 595,000 0 595,000
= 395,000
s 200,000
402 QIZ2HXHE01 M 595,000 0 595,000
= 395,000
s 200,000
02 QI EALEZ (OIS ) 595,000 0 595,000
O SEZ2H SHMS (MBS}
595,000,000 595,000
= 395,000
s 200,000
HegE2n &1 KA 410,000 0 410,000
402 RI2EXt20| M 410,000 0 410,000
01 2I2F 2 A B (REMTH ) 410,000 0 410,000
O lgsn &x XA 410,000, 000& 410,000
20 E&HAY 969, 359 898,000 71,359
= 74,365
< 65,652
i 829,342
ANER0 & ESH= 2349 M 969,359 890,000 79,359
= 74,365
S 65,652
s 829,342
ASHE SHAY 70,000 160,000 A 90,000
402 2I2H X201 M 70,000 160,000 290,000
01 2I2E 2 A B (KR ) 70,000 160,000 A 90,000
O Asxz 84 N 140,000, 000& *50% 70,000
AUSESXE MAMIIBRF(ZH]) 155,000 100,000 55,000
< 46,500
e 108,500
402 RIZFX201 A 155,000 100,000 55,000
< 46,500
s 108,500
02 LA TEALEZ(0IETHR) 155,000 100,000 55,000
O ANSBHS MMIIBRE
310,000,000& *50% 155,000
< 46,500
i 108,500
HAUX XT& A 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
02 It M AHE X 50,000 50,000 0
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2N
X ZH -
L= B

el

EXs 388 M2

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

O BAHHX K&

100, 000,000& *50%

50,000

SYZ0F HUXEZAIE X (2HI)

Mo H

49,793
19,917

2,988
26,888

50,000

N 207

Mo H

49,793
19,917

2,988
26,888

50,000

A 207

99,585,000 «50%

Mo H

49,793
49,793

19,917
2,988
26,888

50,000

A 207

Ao sEtis XI&(=20l)

M A

112,770
45,100
6,760
60,910

200,000

A 87,230

402 BI2HX= 01 M

Mo

112,770
45,100
6,760
60,910

200,000

A87,230

225,540,000& *50%

MR

112,770

112,770
45,100
6,760
60,910

200,000

A 87,230

08
=
O
9
b
0g
Ql
10
[>
i
=
=
19
mn
o

M

23,100

6,600
16,500

23,100

402 2I2tXt=01 &

VR

23,100

6,600
16,500

23,100

33,000,000& *70%

EUNE

23,100
23,100

6,600
16,500

23,100

50,000

100,000

A 50,000

50,000

100,000

250,000

100, 000,000& *50%

50,000
50,000

100,000

250,000

Mo

18,696
9,348
2,804
6,544

18,696
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2N set

HE: A0 SHAL
| 2 s

SOl NMRN Y SBERES FW KD CEEEED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

307 2Iz2to| & 18,696 0 18,696

= 9,348

& 2,804

= 6,544
02 QIZ2IA AAIE E X 18,696 0 18,696

O xg sswa WA2tA X 18,696,000 18,696

= 9,348

= 2,804

= 6,544
gAas ZdsKEHE NS 180,000 0 180,000
307 gizto| A 180,000 0 180,000
02 Q2B AMAIE E =X 180,000 0 180,000

O Z&s8EdH e AN 360,000,000& *x50% 180,000
ANESISA D2 olg Al X 50,000 0 50,000
307 2I2t0| ™ 50,000 0 50,000
02 QI2tAMAIE E =X 50,000 0 50,000

O 22Ul E 75,000,000& * 50% 37,500

O XZHelE 25,000,000 *50% 12,500
HOHEX MAD|IBE ZAHXH 20,000 0 20,000
307 giztol A 20,000 0 20,000
02 QIZ2IA AAIE E X 20,000 0 20,000

O g@dHx MA I8 XI&  40,000,000& * 50% 20,000
o4 9 X 24 X 70,000 0 70,000
402 SI2vXHE0| & 70,000 0 70,000
01 QI EANSE X (M) 70,000 0 70,000

O b= MAH SR =4 140,000,000& * 50% 70,000
ANESRA K& 70,000 0 70,000
402 BI2H X201 M 70,000 0 70,000
01 It EANSEXR (ML) 70,000 0 70,000

O AMAsIA e 140,000,000 = 50% 70,000
A & Ol A TR A 50,000 0 50,000
402 SI2FXHE0| & 50,000 0 50,000
01 BIZtXIEANYE X (KM TH ) 50,000 0 50,000

O MRl AT & AFS 100,000, 000& *50% 50,000
SAtS ZHOY DI BHE = 339,904 381,611 N4, 707

& 18,544

= 321,360
SEME EHe 43 339,904 381,611 N4, 707

= 18,544

= 321,360
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2N set
M SME T JIerEs
A

=}
ol - =
Sel: 55

M MY BAE (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sS4tE AHd =& 83,186 84,186 A 1,000
201 £B-2d| 31,390 32,390 A 1,000
01 At 22l 7,490 7,490 0
O ger2dd| 7,490
— S=SHE ANAHEH 29l
1,500, 000& 1,500
— T Ol¢E SEHA SHHE M
990,000& 990
~ SSAS EEEHER ALY YR
5,000,000& 5,000
02 =224l 14,900 14,900 0
O &&= JAE ®XN =2 1,320,000 1,320
O &&= EHOXN |RXNESZ
1,083,333& 128 13,000
O &g |X === 29,0003 2000 x1& 580
03 &AL2 I 9,000 10,000 A 1,000
O =&&d JHAHEH 2Z 9,000,000 9,000
202 44l 12,000 12,000 0
01 = LH A HI 12,000 12,000 0
O AANHEH =& (bl 10,000, 000& 10,000
O3z 38 FHANEH F& o4l
2,000,000& 2,000
301 et d = 14,296 14,296 0
09 HALAHIEA S 14,296 14,296 0
O =& AHHEH FIX AHlIE4
2,000,000& 2,000
O3z 35 AHHEH FIHA 2HI24
2,000,000& 2,000
O =& OlIIE ZELQYEH FIHAHIEH
10,296, 000& 10,296
307 glz2tol & 25,500 25,500 0
02 IZHE M AHE L 25,500 25,500 0
O NEEMUE RELUM XN (RAH )
12,000, 000& 12,000
O HX&He ZEHI & S As I
3,500,000& 3,500
O &dXaeh 23 =iyl XI& 10,000,000 10,000
SUZEHHE 2SN 34,000 58,000 224,000
101 @124 Hl 10,000 9,000 1,000
04 JIZHHZ2XREES 10,000 9,000 1,000
O EQAZE E4F BIHE AIFQUF Q1244
0,000,000 10,000
201 Zet24E] 14,000 14,000 0

- 416 -




2N
X ZH -
L= B

el

= — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 8,000 8,000 0
O EQAIZE S¢Z BHE 2 8,000,000& 8,000
02 2324l 6,000 6,000 0
O EQANTE E4F BHIIYE 2323 =7
6,000,000& 6,000
401 AIEHI L 20 10,000 35,000 225,000
01 A& HI 10,000 35,000 225,000
O S¢E =, HEAME RNE=s>
10,000, 000& 10,000
Hes A pHsty elgidl XIFAS (=) 88,575 52,500 36,075
< 17,715
e 70,860
307 21201 A 88,575 52,500 36,075
< 17,715
i 70,860
02 QB LA EX 88,575 52,500 36,075
O Mg HanAss eHid XIJAY
59,050% «1,500& 88,575
< 17,715
[ia 70,860
EZ ANAE MEHN HE NIAAMH(EH]) 4,143 6,600 N2,457
< 829
e 3,314
201 -4l 4,143 6,600 N2,457
= 829
fia 3,314
01 At 22l 4,143 6,600 A2,457
O B2 AAES 428 M NIAMY
3,000& x1,381H 4,143
< 829
[ 3,314
SE AMAE Y4 M XNIAMY 5,000 0 5,000
201 Let24El 5,000 0 5,000
01 At 22l 5,000 0 5,000
O 88 ANAS dEH HE NAY
5,000,000& 5,000
HHHXNREH 28 43t 125,000 125,000 0
301 et d = 20,000 20,000 0
09 SALEHIEA S 20,000 20,000 0
O AHAXNJAHE HAHNEH =HOtAHE &
20,000,000& 20,000
307 glz2tol & 105,000 105,000 0
02 IZtE M AHE L 105,000 105,000 0
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2N set

M o2 O JIEtEE
A

SN ZH-S(SA) - HRAY

ESS

0l &t o

=
i

2

O

O HAHNHXNSHE AR2SH
O

HAHNX A HEH 2R oI A

AHHKAHE ESHHHEIXIE

25,000,000&
20,000,000&
60,000,000&

25,000
20,000
60,000

O

a2 Mo - KRS

M A

2,403,399
36,678
64,776

2,301,945

393,658

2,009,741

stE SSHA 245

MR

2,206,539
36,678
62,756

2,107,105

315,238

1,891,301

VY

57,000

22,800
34,200

57,000

402 QI2tXt=01 &

M

57,000

22,800
34,200

57,000

02 (IR 2AILE X (01 ETHR)

UL

57,000

57,000

22,800
34,200

57,000

M

60,000

18,000
42,000

60,000

307 glztol &

M

60,000

18,000
42,000

60,000

60,000,000&

VR

60,000
60,000

18,000
42,000

60,000

MR

62,371
31,185

9,356
21,830

5,027

57,344

307 21201 &

MR

62,371
31,185

9,356
21,830

5,027

57,344

S

N
O GAPIZ SOt Q& & 2 Al

62,371,000&

HH A

62,371

62,371
31,185

9,356
21,830

5,027

57,344
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<

n0

Kio

Hl w

2,543

20

20

2,963

2,963

A 22,600

A 22,600

A 22,600

A 36,400

A 36,400

A 36,400

H3r
Wikd
RIS

5,875

500
500

4,000
4,000

1,375
1,375

2,950

300

300

2,210

2,210

74,400

74,400

74,400

92,400

92,400
92,400

Off &t 24

5,875

500
500
500

4,000
4,000
4,000

1,375
1,375

875
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5,493
5,493

fir
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320
320
5,173
5,173
5,173
5,173
5,173

fi

fir

rr

i

51,800

H
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39,200
51,800

i

H
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H
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H
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04 DIt 22 XsSE*

202 O Hl
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ok
ol
R0
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K
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<

n0

Kio

Hl w

1,800,000

1,800,000

1,800,000

93,000
93,000
93,000
118,440

A1,200

A1,200

1,200

1,200

A 11,560

H3r
Wikd
RIS

15,000
15,000
15,000

78,420

62,820

11,320

11,320
1,500
1,500

50,000
50,000

15,600

0l &t o

6,000
15,000
15,000
15,000
15,000

1,800,000

1,800,000

1,800,000

93,000
93,000
93,000
93,000
196,860

1,800,000

H

2,020
194,840
62,820

10,120

10,120
10,120
3,000
,120
6,000
1,500
1,500
1,500

1
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50,000
50,000
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=

=

=)
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FN: s&
M a2 M4 - fERe
SR SHME S8 Y ISHH S EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,020
307 glz2tol & 4,040 15,600 A 11,560
< 2,020
s 2,020
02 It M AHE X 4,040 15,600 A 11,560
O RIINSAS dE5+==3 XN 4,040,000 4,040
< 2,020
[ia 2,020
SHES MRS 243 XAME 130,000 0 130,000
307 21201 A 130,000 0 130,000
02 QB AANGFEX 130,000 0 130,000
O 234l NA(23H S =+8)
80,000,000& 80,000
O Z&EM M& XA (LEZEM) 50,000,000 50,000
=0 - =58 WU=E=EX g3 590,861 595,808 A4, 947
< 173,200
[ia 417,661
stunzal XA 590,861 595,808 A4,947
= 173,200
s 417,661
stuga ANME XA 1,980 1,980 0
201 2et24d] 980 980 0
01 At 2teltl 980 980 0
O &maal N Hogias BN £g
70,000& * 798 « 23] 980
202 044l 1,000 1,000 0
01 SLHOIYI 1,000 1,000 0
O StRIA AR NAYL =T oft]
1,000, 000& 1,000
stuga edsig AMEXA(Z) 573,381 578,328 AN4,947
< 168,550
e 404,831
308 XXM SOIA 573,381 578,328 N4,947
< 168,550
e 404,831
08 WHKII20UHSHE = 573,381 578,328 A4,947
SDIA HBASME ATE
573,381,000& 573,381
< 168,550
s 404,831
stugal ANE oHES AAH(Z) 15,500 15,500 0
< 4,650
e 10,850
201 L4l 15,500 15,500 0
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FN: s&
M HY2IZH (s4tD)
chelr D123l
SA - ZE-B(EA) - NRAY - B S il &t o il
202 Od4dl 11,000 8,000
01 = LHA YI 11,000 8,000
O g2=2& ol 11,000, 000& 11,000
22/ E= 14,900 14,900
201 L2l 8,900 8,900
01 At 22l 8,900 8,900
O el 3,000,000& 3,000
O 22+ (s3493l) 1,400,000 1,400
O S&l 4,500,000& 4,500
202 oddl 6,000 6,000
01 S LHOIYI 6,000 6,000
O gRF& ol 6,000,000& 6,000
23t /sAERS 19,080 19,080
201 Let249] 15,080 15,080
01 At 22l 15,080 15,080
O «er249Hl 12,000, 000& 12,000
O Sl 3,080,000 3,080
202 odl 4,000 4,000
01 = LH o4 1l 4,000 4,000
O OHHE gRF=& Kl 4«50 20, 000& 4,000
HRES (=4 500,000 500,000
LHEAHHKI= 500,000 500,000
WEAHHX S (2 &2 =Lt 500,000 500,000
702 J1S3¥ES 500,000 500,000
IS8 E3 500,000 500,000
O Jzsd2aMIIIRABEIIZ A
500,000,000 500,000
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